- SHOPPING LIST -

Shopping list:

Coilover Conversion Dateftime:

Customer name: Created by:

Contact:
Order no.:
Note:

Changed by:
Workshop ID::

05/04/12 10:57 AM
epc14864
epc14864

Damage Item
code no.

60

90

90

100

110

120

120

150

160

170

170

180

181

Part no. ES1 ES2

A 2113210084
WDB211065

N910105010010

A2113200026

A 211350 18 06

N 913023 010002

A 0039903412

N 913023012002

N 000000003276

N 000912014089

N 913023 014003

A2114270541

A21142706 41

A 002 990 84 97

A2114270941

Designation/description

SHIM
FRONT SPRING

HEXAGON HEAD BOLT

SHOCK ABSORBER TO SPRING
CONTROL ARM

M10X70

SPRING RETAINER
FRONT SPRING

GUIDE
LEFT

NUT

SHOCK ABSORBER TO SPRING
CONTROL ARM

M10

BOLT

SPRING CONTROL ARM TO REAR
SUBFRAME

M12

NUT

SPRING CONTROL ARM TO REAR
SUBFRAME

M12X1.5

NUT

SPRING CONTROL ARM TO REAR
SUBFRAME

M12X1.5

SCREW

SPRING CONTROL ARM TO
WHEELBEARING
M14X1.5X120

NUT

SPRING CONTROL ARM TO
WHEELBEARING

M14X1.5

BRACKET
TO LEFT SPRING LINK

BRACKET
TO RIGHT SPRING LINK

RIVET
BRACKET TO SPRING LINK LEFT
6,5X12,8

BRACKET
BRACKET TO SPRING LINK LEFT

Quantity Qtyon Price  Warranty/goodwill

hand code
002

002

002

002

002

002

002

002

002

001

001

004

004

Copyright Daimler AG, 5/4/12 11:07 AM, EPC 1.29.0.1, DW 04/2012 Delta 3

Page 1




COVER

190 A2113520388 SPRING CONTROL ARM

002

Copyright Daimler AG, 5/4/12 11:07 AM, EPC 1.29.0.1, DW 04/2012 Delta 3

Page 2




- Picture -

Mode . MD mode Mod. des. overview E SEDAN

FIN/MD 211065 Catalog 64U

VIN Major assembly

Sales designation E 320 Major assembly MD

Assortment class Car Group 35 - REAR AXLE

Market All Subgroup 075 - REAR AXLE SUSPENSION
Picture number B35075000064.101115

Copyright Daimler AG, 5/1/12 4:56 PM, EPC 1.29.0.1, DW 04/2012 Delta 3 Page 1




- Picture -

Mode MD mode Mod. des. overview E STATION WAGON

FIN/MD 211265 Catalog 64v

VIN Major assembly

Sales designation E 320 Major assembly MD

Assortment class Car Group 32 - SPRINGS, SUSPENSION AND HYDRAULIC SYSTEM
Market Al Subgroup 054 - SPRING STRUT AND SPRING STRUT MOUNTING FRONT
Plcture number B32054000026.120117

I CODE 489

160@

S

Copyright Daimler AG, 5/4/12 10:41 AM, EPC 1.29.0.1, DW 04/2012 Delta 3 Page 1




- Picture -

Mode MD mode Mod. des. overview E SEDAN

FIN/MD 211085 Catalog 64U

VIN Major assembly

Sales designation E 320 Major assembly MD

Assortment class Car Group 32 - SPRINGS, SUSPENSION AND HYDRAULIC SYSTEM
Market All Subgroup 154 - SPRING STRUT AND SPRING STRUT MOUNTING REAR
Picture number B32154000025.120117

| CODE 489

110 &120
B 9w 110
D a0
18 22 =
© @ & 150
- 5005

35

Copyright Daimler AG, 5/1/12 4:58 PM, EPC 1.29.0.1, DW 04/2012 Delta 3 Page 1






